Key Stage 2 National Curriculum Tests - Practice Paper - Arithmetic

Quick View
1| 978  + 100 =
2| 148 «x 2 -
3 73 + 0.5 =
a 32 x 3 =
5| 3,014 + 518 =
6| 72 + 9 =
7| 143 - 9 =
8| 12 + 005 =
9 4 x 5 x 6 =
1, 5 - 1 =
9 9
11| 420 = 6 =
12| 194 «x 100 =
13 5 2 _
14| 70,000 - 600 =
15| 100 x 1000 =
16| 640 = 8 =
17| 20% of 1,400 =
18| 135 «x 4 =
19 2 1
4 * 4 =
20| 8,493 + 2,142 =
21| 5050 + 5
2| 12 - 708 =
23 32
X 51
24| 124 - 315 =
25 17[ 4,131
26 1 1
4 X 8 B
27| 95% of 460 =
28| 234,765 - 54,888 =
29 241
X 26
30 1
15 x 1 ) =
31] 30 - 6 x 4 -
32 2
= : 2
33 1 1 B 1 )
6 3
34 36 1692
3 2 5
5 * 8 B
36 5
8 N 2 -
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Key Stage 2 National Curriculum Tests - Practice Paper - Arithmetic

Answers
1 1,078
2 296
3 7.8
4 96
5| 3,532
6 8
7 134
8| 1.25
9 120
10 4/9
11 70
12 194
13 25
14| 69,400
15| 100,000
16 80
17 280
18 5.40
19 3/4
20| 10,635
21| 1,010
22 4.92
23| 1,632 Long multiplication method required
24| 9.25
25 243 Long division, method required
26| 1/32
27 437
28| 179,877
29| 6,266 Long multiplication method required
30, 225 Preferably written as a mixed number, rather than a decimal
31 6
32 1/7
33 5/6 or equivalent
34 47 Long division, method required
351 1/40
36 5/16 or equivalent
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